mop (£2 q) == map(£) o wap(9)

4? o2 E; =ﬁ>(:

:j 52 }\ => E; §1°-fj . /\ = Cl

{
map[A, Bl(f: A => B): F[A] => F[B]

bar(x: :

{
map[A, B](f: A => B): Bar[A] => Bar[B] = (barA: Bar[A])
bar(x: X): B = f(barA.bar(x))

har A +: Bar[A)
X ::X

M4Ckf> (JF o :j> ge Echr-[f/Y} =D TSG~F17CLj]
MO\P(-?° 3 (bc\r/\v._l)o.r[x\) =
(-?033( earA. loqr[XY)

map (£ o wmop (@) = Bar[A] = Bar [C)
(MOITP(‘?\ ° IMEF?‘_’D> (L)o;r/g\\. bar [x\) =
map(§) (mop(9) (bar A)). bar (x) =
£ map(9) (barA). bar(x)) =

'P(S( barA. bar (x))) =
(£ °3> (barA. bar (X))

Thns Bar preserves w.orphisw COmPasi'le'on.



